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Figure to the right indicate full marks of the question.

Explain source of primary data.

Form a frequency distribution from the following data.
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9,7,53,4,8,6,2,6,591,7,2,3,8,6,8,7,4,9,4,5,5,6,5,9,6,9,5

OR
What is data collection. Explain different methods of data collection. 9
Give the difference between primary data and secondary data. 9
Find mean and median and mode from the following frequency distribution. 8
Class 15-19120-24125-29 | 30—-34 | 35-39 { 40—44
Frequency 4 20 38 24 10 9
Find Standard Deviation from the following data. 9
Class [0—-9 | 10—-19 | 2029 | 3039 | 40—-49 | 50-59 | 60—-69 | 7079
f 0 14 16 24 20 10 6 4
OR
Find Q;, Dy and Pgs from the following data. 8
x [ 0-10 IO—‘ZO 20—-30 | 30-40 | 40--50 ! 5060 | 60—70-| 70—80
f 8 12 20 32 30 28 12 4
Find co-efficient of variation for both products. 9
Product X 15 19 12 30 25 22 31
Product Y 59 | 75 28 63 27 28 56
Define (i) Event (ii) Mutually exclusive Events (iii) Independent Event 9
(P 0)
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Two balanced dice are thrown simultaneously. Find the probabilities that sum of
rumbers on the dice is (i) 5 (ii) at most 5 (iii) At least S (iv) greater then 10.

OR

State and Prove addition theorem of probability for two events.

It A, B and C are mutually exclusive and exhaustive events and
3P(A) = 4(B) =2P(C), then Find P(A U B).

Write properties of poisson distribution.

For a binomial distribution , mean =24 and variance = 4.8 find its parameters.
OR

In a normal distribution mean = 75 and s.d. = 15. Find the following values :

(PP(45<x<90) (i) P(x<60) (i) P(x=>45)

Write properties of Normal distribution.
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